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tyle MODEL TEST PAPER—4

CLASS—XII (H.P.)
CHEMISTRY

Time Allowed : 3 Hours Maximum Marks : 6(

Special Instructions : Same as in Model Test Paper—1.
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For a galvanic cell AG is :

(a) —ve (b) + ve

(¢) zero (d) None of these. -

In a first order reaction, the rate constant is 0.693 hr-!. The half-life of the reaction
1S : ..

(@) 0.693 hr | (b) 1 hr

(c) 6.93 hr ' (d) 69.3 hr.
Molecular mass of a colloidal particle is determined by using.

(a) Elevation in boiling point

(b) Depression is freezing point

(c¢) Osmotic pressure

(d) None.
The half cell reaction of the cells wused in hearing aids
are : Zn—> Zn** + 2e (E°=-0.76 V) '
Ag,0 + H,0 + 2e —> 2 Ag + OH™ (E° = 0.34 V) E” of cell will be :

(a) 042V ) SAOHR 1AV

(c) 0.84V (d) 2.2 V.

If the first order reaction involves gaseous reactants and gaseous products, the units of
Its rate are :

(a) atm (b) atm sec
(c) atmsec”] (d) atm? sec?.
Haematite is an ore of

(a) Fe (b) Cu

(c) Al (d) Zn.

What are ferromagnetic substances ?

Define specific conductance and molar conductance.

Define F-centres.

What is co-ordination polyhedron ? e

Describe primary and secondary structures of proteins. ' « . _
How do you explain that the transition metals form complexes and coloured
compounds ? |

Why do transition metals form complexes ? What type of bonds are present in these
complexes ? Give one oxidising reaction of KMnQO, in acidic medium.

Calculate the maximum electrical work that can be obtained from the following Cell
at 25°C Zn | Zn%* (IM) | Cut*2 (1 M) | Cu. Given, E° Zn*2/ Zn = - 0.76 V, E° Cu*’
/ Cu = 0.34 V, F = 96500 coulombs. -

How will you distinguish between ethyl chloride and chlorobenzene.
Distinguish between calcination and roasting. ;
Write the cis and trans isomers of [Co(en),Cl,]SO,.
What are emulsions ? What are their types ? l%{ow will you identify them ?

In an Arrhenius equation for certain reaction, the value of A and E, are 4 X 102 sec"l

and 98.6 kJ mol~! respectively. If the reaction is of the first order, at what temperatur®
will its half life period be 10 minutes ?
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» (b)

(c)

With the help Of sunaoie diagram | _
Prove that osmotic pressure Is a colligatia\: ;\:fp&p;s YF Rgyidcal sdittidas.

i has a rock salt geometry. The edge : .
K ﬂ (Ij(:;sity. o ge length of the unit cell is 536 pm. Calculate its
3 Assumingb c:c::l P
-epared by dissolving 6.0 g of Glauber’ -

p & r's salt (Na,SO,, 10H,0) in 0.1 kg of water.

) Explain how the colour of K,Cr,0, depends upon pH of the solution.

mplete dissociation, calculate the expected freezing point of a solution

What is the cause of lanthanide contraction ? Gi
10N ° :
Fit Give one Important consequence

(@)Why do noble gases take part in bond formation ?

PCls is known but NCl 1s not known. Explain. .
Out of HCIO and HCIO,, which is stronger acid and why ?

95, Arrange the following in decreasing order of the property indicated :

(1)
(i)

HF, HCI, HBr, HI (acidic nature)
H,0, H,S, H,Se, H, Te (Boiling point)

(iii) NH;, PH;, AsH,, SbH; (Basic strength).
%. (a) Convert benzene to m-nitroaniline.

()

(c)
(a)
(D)
(c)
27, ()

()

28, (a)

What happens when :
(i) Methamine is treated with ethanol chloride ?

(ii) Acetaldoxime is treated with phosphorus pentoxide 7
How is Gabriel’s phthalimide reaction used to prepare primary amines ?

Or |
Electrophilic substitution in case of aromatic amines
than in case of benzene. Explain.

How is methamine prepared from methyl isocyanide ?

Out of aniline and ethyl amine, which is more basic and why ?

Why do we get abnormal molecular masses from colligative properties ? What
i« Van’t Hoff factor ? How < it related to degree of dissociation ?

The solubility of Ba (OH),. 8H,O in water at 298 K is 5.0 per 100 g o_f water-
What is the molarity of the hydroxide 10ns .. saturated solution of barium

hydroxide at 788 K ? (Atomic mass of Ba=137,0=16,H=1) 3
(i) Aldehydes are morc reactive than ketones towards nucleophilic addition

takes place more readily
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